Racecourse Road Structure Plan Feedback
SUMMARY OF SURVEY RESPONSES

December 2020



Were you able to attend the Informal Consultation meeting conducted at
Council Chamber on November 23, 5.00pm?
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In principle, do you support the Council’s efforts to develop the Structure
Plan?
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Do you believe the Structure Plan will result in a better planned outcome for the
neighbourhood, community and the town?
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Council will consult with the affected property owners before finalising the road
alignment. In principle, do you support the proposed conceptual alignment for
the spine road?
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If there is market demand, would you potentially consider
developing/subdividing your property in the next 3 years?
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If your neighbour was considering developing their land in the next 3
years, would you consider working with them on a combined project?
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Would you consider buying part or all of a neighbouring property or selling
part or all of your property to a neighbour to allow them to develop?
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In principle, do you support implementation of the structure plan roading
through an Outline Development Plan using the Plan Change process?
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